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INSTRUCTIONS AND INFORMATION

September 2023 Common Test

Read the following instructions carefully before answering the questinns

10.

11

[ —
I's

L)

Answer AL the questions.

Write AEL%ihe answers in the ANSWER BOOK.

Start the answers to each question at the top of a NEW ¢

Number the answers correctly according to the numberin
this question paper.

Present your answers according to the instructions of ea
Do ALL drawings in pencil and label them in blue or blacl
Draw diagrams, tables or flow charts only when asked to
The diagrams in this question paper are NOT necessarily
Do NOT use graph paper.

You may use a non-programmable calculator, protractor

Write neatly and legibly.
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Various op! ‘are provided as possible answers to the follo
Choose thg_;;ggirrect answer and write only the letter (A to D) r
question number (1.1.1 to 1.1.4) in your ANSWER BOOK, fo
114 D. &L
1.1.1 Decomposers ...

A  are secondary consumers

B  produce their own organic food

C  do not form part of food chains

D feed on dead organic matter
1.1.2 Carolus Linnaeus classified living organisms.

1.14

Which of the following sequences is correct accordin
classification system?

A Kingdom yla, order, family, genus, sp:
B Phy ss, kingdom, family, genus, species, ¢
C King phyla, class, order, family, genus, spi
D Kingdon ph.yl.a@‘_.qlass, order, genus, family. spi

The scientific name for an African Lion is Panthera |

According to the binomial system the word/term Pan
the ...

A class

B  species
C genus
D family

Which ONE of the following is INCORRECT about tl
cycle?

Ammonia is changed into nitrates

Lightning converts nitrogen into nitrates
Nitrogen-fixing bacteria change nitrates into nitt
Nitrogen -fixing bacteria change nitrites into nitr

ooOm>
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1.2  Give the correct biological term for each of the following de:
the term next to the question number (1.2.1 to 1.2.4) in your .

1.2.1

1.2.2

1.2.3

1.2.4

The part of the earth and its atmosphere where living

eregion that is classified by species that live in it,

- |

soil type and type of vegetation

Céablete disappearance of a species from Earth

The study of fossils

1.3 Indicate whether each of the statements in COLUMN | apply
BOTH A AND B or NONE of the items in COLUMN II. Write
and B, or none next to the question number (1.3.1 to 1.3.2) i

COLUMN | COLUMN Il
1.3.1 | Factors influencing the History of life | A: Levels of C

on Earth B: Climate chi
1.3.2 | Organism with no true nucleus A: Eukaryotes

B: Prokaryote

1.4  The diagram below shows different types of fossils.

TC




MYA

65

Mesozoic

Palaeozoic

Ordovician

Cambrian

L

2.1.2

213

Scientists have discovered fossils of early humans ir
in Africa.

State which:
(@) Era had the shortest duration?

(b)  Period started 65 MYA?

About 543 MYA an event known as the ‘Cambrian E;
occurred.

Explain what happened during this event?

Scientists estimated that fossil Megaconus (nicknam
squirrel) lived exactly in the middle of the Jurassic pe

Calculate how many million years ago that was. Shc
calculations.
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2.2 Grade 10 learners did an investigation to determine the soil pH, humus content and
permeability to water of three different soil samples

The following procedure was followed:

 Three soilsamples were taken from the garden

» The threesoil samples were analysed according to the level of pH using
the litmius/paper, humus content and permeability to water

¢ The results were collected and recorded

The table below show the results of the investigation.

pH level in % of Humus | Permeability to water
100 g of soil content in (ml of water passing
sample 100 g of soil | through 100 g of soil
sample per minute in %)
Sample A 58 5 75
Sample B 9 10 5
Sample C 7.6 25 20
2.2.1 Identify TWO factors that were being investigated in the soil samples. (2)
2.2.2 Identify the soil Sample (A, B or C) that will have low water holding (1)
capacity.
2.2.3 Give areason for your answer in QUESTION 2.2.2. (2)
2.2.4 Explain the disadvantage of soil Sample A having low humus content. (2)
2.2.5 State TWO ways in which the reliability of the result could be increased. (2)

TOTAL QUESTION 2:

(9)
[15]



Humans impact the physical environment in many ways: ove
burning fossil'fuels and deforestation. Changes like these t
change, soilerosion, poor air quality and undrinkable water

These negative impacts can affect human behaviour ar
migrations or battles over clean water.

3.1.1 State TWO ways in which the humans impact the en
stated in the above extract.

3.1.2 Explain the impact of overpopulation on deforestatior

3.1.3 Suggest ONE way that the government can do to he
pollution in factories and industries.
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3.2 The diagram below represents a food web.

Springbok

Grass

3.2.1 Use the food web above to identify:
(@) Herbivore

(b)  Secondary consumer

3.2.2 State what would happen to the population of zebra i

3.2.3 Draw a food pyramid to show the three trophic levels
grass, lion and springbok.

Lo Mo FacachAa Aaviimaem Avsala
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12.

13.

14.

If more inf&éﬁ_{ation than marks allocated is given
Stop marking/When maximum marks is reached and put a wavy line and
'max’ in the-right-hand margin.

If, for example, three reasons are required and five are given
Mark the first three irrespective of whether all or some are correct/incorrect.

If whole process is given when only a part of it is required
Read all and credit the relevant part.

If comparisons are asked for but descriptions are given
Accept if the differences/similarities are clear.

If tabulation is required but paragraphs are given
Candidates will lose marks for not tabulating.

If diagrams are given with annotations when descriptions are
required
Candidates will lose marks.

If flow charts are given instead of descriptions
Candidates will lose marks.

If sequence is muddled and links do not make sense

Where sequence and links are correct, credit. Where sequence and links
are incorrect, do not credit. If sequence and links become correct again,
resume credit.

Non-recognised abbreviations
Accept if first defined in answer. If not defined, do not credit the
unrecognised abbreviation but credit the rest of the answer if correct.

Wrong numbering
If answer fits into the correct sequence of questions but the wrong number
is given,it is acceptable.

If language used changes the intended meaning
Do not accept.

Spelling errors ——
If recognisable, accept the answer, provided it does not mean something
else in Life Sciences or if it is out of context.

If common names are given in terminology

Accept, provided it was accepted at the national memo discussion meeting.
If only the letter is asked for but only the name is given (and vice
versa)
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185.

16.

G I

18.

If units are not given in measurements
Candidates will lose marks. Memorandum will allocate marks for units
separately.

Be sensitiﬁie"_-fé the sense of an answer, which may be stated in a
different way.

Caption
All illustrations (diagrams, graphs, tables, etc.) must have a caption.

Code-switching of official languages (terms and concepts)

A single word or two that appear(s) in any official language other than the
learners' assessment language used to the greatest extent in his/her
answers should be credited if it is correct. A marker that is proficient in the
relevant official language should be consulted. This is applicable to all
official languages.
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2:1

2.2

241

2.1.2

213

221

Bl

223

224

225

ANl I W -

(a) %éf@jzoic v
(b) Tettiary v
i
- TfFrer”was a rapid increase in the number of species v
- that increased diversity of life formsv'on earth

190+140v" = 165 MYAY
2 (Accept any correct method of calculation with the same
answer )

- Soil pHv
- humus contentv’

- permeability to waterv’
(Mark the first TWO only)

Av

]

Soil sample A is sandy soil v
have large soil particlesv
that allow water to pass easilyv Any

The soil is infertilev
and canggt E!Qlég 1 mest crops successfullyv

- Increase s |

- Repeat the ation several timesv’
- Calculate the i

(Mark the first TW

TOTAL QUESTION 2

(2)

(2)
(6)

(2)

(1)

(2)

(2)

(2)
(9)

[15]



31 3141 Overpopulationv’
Pollutionv
Bu%lﬁ;ig of fossil fuelsv’
eforestationv’
k'the first TWO only)

M

3.1.2

More space is needed to build housesv
for human settlementsv’

And this results in urbanisationv’

And clearing the landv (removing trees)
leading to fewer trees left v/

3.1.3 - Issue penalties v to those producing pollutants abov
- Subsidise alternativesv’
- Regulations to ban certain pollutants and pollution p
(Mark the first ONE only)

3.2 321 (a)-Zebrav
- springbokv”

(b) - Hyenav
- lion v

3.2.2 Population size will increase v

323
Food/ Energy pyramid
Marking Rubric:
Feature Mark allocation
Correct type of 1
diagram (T)
MNantinn () 1
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3.3 - During respiration, oxygen is taken in by living organism v
- And carbon dioxide gas is given into the atmospherev’

- Plant 11ea rarhnn dinvide nac far nhntnevnthacie v



